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Wit YBmE (mm) (°C) (°C) (%) EER | E[m (°C) (W/m) [ (MJ/m)
1 | 10112 1014.5 10.0 5.4 73 3.1| SSE 6.9 0 0.00 X
2 | 1011.1 1014.4 9.4 5.0 74 22| SSE 6.7 0 0.00 X
3 | 1011.1 1014.4 8.8 4.8 76 1.3| SSE 6.8 0 0.00 X
4 | 1011.0 | 1014.3 8.6 4.4 75 1.8| SE 6.1 0 0.00 X
5 | 1011.1 1014.4 8.5 4.3 75 09| SE 7.4 47 0.05 X
6 | 10114 | 1014.7 10.2 4.9 70 13| SE 8.9 55 0.21 X
7 | 10116 | 1014.9 12.8 6.4 65 27| SE 10.9 66 0.22 X
8 | 1011.3 | 10145 17.1 7.4 53 22| SE 15.7 74 0.26 X
9 | 1011.4 | 1014.6 19.9 7.3 44 2.7| SSE 18.4 71 0.27 X
10 | 1011.1 1014.3 20.4 6.7 41 40| SE 17.7 55 0.22 X
11 | 10109 | 1014.1 21.2 6.3 38 40| SSE 18.1 41 0.17 X
12 | 10105 1013.7 21.8 6.4 37 49| SSE 18.2 35 0.13 X
13 | 10105 1013.7 21.6 5.9 36 49| SSE 17.8 32 0.12 X
14 | 1009.9 | 1013.1 22.2 5.2 33 49| SSE 19.1 30 0.11 X
15 | 1010.2 1013.4 20.3 5.5 38 3.6| SSE 17.6 16 0.08 X
16 | 1010.6 | 1013.8 20.0 5.6 39 2.7| SSE 17.7 18 0.06 X
17 | 1011.4 | 1014.6 17.6 8.2 54 1.8 N 15.7 12 0.06 X
18 | 1012.2 1015.4 16.3 8.8 61 09| NE 14.4 5 0.03 X
19 | 1013.0 | 1016.2 14.9 9.1 68 09| NE 13.2 0 0.00 X
20 | 10135 1016.7 15.3 5.7 53 1.8| SSE 13.0 0 0.00 X
21 | 1013.8 | 1017.1 14.5 4.5 51 13| SE 12.1 0 0.00 X
22 | 1013.7 | 1017.0 12.7 7.8 72 2.7| SSE 10.3 0 0.00 X
23 | 1013.7 | 1017.0 11.8 8.8 82 3.6| SSE 8.9 0 0.00 X
24 | 1013.7 | 1017.0 11.2 8.7 85 3.1| SSE 8.6 0 0.00 X
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